Adda

eY

Signature and Name of Invigilator

1.

2.

NUEIN

Time : 2Y2 hours]

(Signature)
(Name)
(Signature)
(Name)

1|7

PAPER - III RollNo.
INTERNATIONAL AND AREA
STUDIES

GET IT ON

Google Play

OMR SheetNo.: ..........ccoooeiecieccircecs e
To be filled by the Candidate)

Roll No.

(In figures as per admission card

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 40

Number of Questions in this Booklet : 75

N o

10.
11.
12.
13.

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.

This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: ) @) @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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INTERNATIONAL AND AREA STUDIES
PAPER - 111

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Who amongst the following military commanders of the Pakistani Army plotted the tribal
raiders” attack on Kashmir in 1948 ?

(1) Maj - Gen Mohd Akbar Khan (2) Gen Ayub Khan

(3) Gen A. Niazi (4) Gen Zia Ul Haq
2.  Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Inclusive growth and good governance are just like vitamins for the welfare
of public during any insurgency - prone situations.

Reason (R) : Popular supportis essentially required for the success of counter - insurgency
operations.

Code :

(1) Both (A) and (R) are correct, but (R) is not the comprehensive explanation of (A).

(2) Both (A) and (R) are not correct.

(3)  (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

3.  Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : China wishes to become number one in the world by overtaking the United
States.

Reason (R) : China’s strategy, vis - a - vis the US and other major powers, is essentially
marked by its privileged economy, diplomacy and military capability in the
emerging global order.

Code :

(1)  (A) is correct, but (R) is not correct.

(2) Both (A) and (R) are correct.

(3) Both (A) and (R) are not correct.

(4) ) is not correct, but (R) is correct.

N7 \IIHI“II\HI\HI“H\I\HII\ A0 z
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AN Ud &3 37e8a=
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e : 39 T-T9 | UeIe (75) 98- fashed ™ ¥9H €1 s YT % ar (2) ik &1 |t e 3ifrend ¥ |

1.  oifrsaHt 91 & fefafea § @ fem 9 wHiet 3 99 1948 H HyAR H FHemsc! SR o SThH0

EIRECERCIRIE
(1) SR S "G 3Tehok @M (2) SRA S @H
(3) A T At (4) SR TS 3 g

2. = fu T stfyeRer (A) 3R @k (R) & T 921 e i 989 SV
USRI (A) :  Tora gwifaa feafaai & SRE a1 61 IaE & fau gwmet fawm iR gemes

farerfamt & T9E B
e (R) : g fawret Giwmaneii ot goherar & fau SHaqe 2ifq e 1
<< :
(1) (A) 3R (R) I 9t € WG (R), (A) T T AT T ¢ |
2) (A) 3R (R) ST Tt =& ¥ |
(3) (A) T ¥, W (R) Tl &l €
(4) (A) 99 T 8, WG (R) T 2

2

4

3. = fou U ifyeRer (A) 3R @k (R) & T T2 e i 9= S :
AR (A) : =19, TR § 3T Frehcrer fava & g Tom &t Sfaed wTa e = ¥ )

qeh (R) : T TF TR IR 1= Y@ Widadl &1 o | = i WHifG SEamE
Afyeae aen § sueh! fasfusd stefereten, Tewa SR B=1 &T9al ¥ Je=! St
gl

<< :

1) (A) 92 &, WG (R) Tl &l €
2) (A) 3R (R) < =&t ¥ |

3) (A) 3R (R) T &l 7 T
(A) TEt T §, W (R) &l |
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4. Who amongst the following defined war as “an act of Violence intended to compel our
opponent to fulfil our will” :

(1) Carl Von Clausewitz (2) A.Jomini

(3) A. Wolfers (4) K. Waltz

5.  Who amongst the following stated that India’s strategic culture is “more distinct and coherent
than that of most contemporary nation - states”

(1) George K. Tanham (2) Rodney Jones

(3) Leo Rose (4) S.P. Cohen

6. Who amongst the following thinkers emphasized that “good strategy presumes good
anthropology and good sociology”

(1) Raymond Aron (2) Klaus Knorr

(3) Bernard Brodie (4) H.J. Morgenthau

7.  Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The fundamental purpose of Indian nuclear weapons is to deter the use
and threat of the use of nuclear weapons by any state against India and its
forces.

Reason (R) : India will not be the first to initiate a nuclear strike, but will respond with
punitive retaliation should deterrence fail.

Code :

(1) (A) is correct, but (R) is not correct.

(2) (A) is not correct, but (R) is correct.

(3) Both (A) and (R) are not correct.

(4)  Both (A) and (R) are correct.

woor NN ;
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4. Trfafea & 9 feaa gg o fidan o1 Ton 6 et e fatifedi sl o1ot =1 g o6tq & fog
oo s ®, o w9 ¥ uftunfea foran @

(1) e 9 TSI (2) T S
(3) U AcHH (4) . 9

5. Trfafea o & fhe e fe ' vRa 1 St §5pid AR Saamides Tg-T591 6l §&hid

i o H S1fersh T iR gers 7
(1) SISl %, 2784 (2) T S
(3) T Is (4) TEW. HRA

6. Trfcfed § ¥ fog fads 7 39 o W o9 feon for o=t ool o= Aeeme 3R 3=
THISTE &l At edl &

(1) e wH 2) FaEAR
(3) S FieEr (4) TES. AR

7. = fou T sifueRe (A) SR ek (R) & foT W&t e &l TeaH ST :

AURT (A) :  TRAI AMHhT SAARI T o e, YRA AR THHI 31 o faeg A
BNl & SR 3R A BRER o AT & Tal & Ui YR 3ae
HEATE

ek (R) : IRA gt TR g0 Tl T W YRR % STEh & 9M W SIS
YRR A |

ETE
(1) (A) F& &, T (R) T T 2
(2) (A) W& § WY (R) ¥ T
(3) (A) ¥R (R) Tl Wl T €
4)

(A) 3R (R) i T2t T

oo [ MFHNE A ;
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Match the following authors given in List - I with their books in List - II by using the code

List - II
(Books)

The Tryst Betrayed : Reflections in
Diplomacy and Development

Neither a Hawk Nor a Dove
From Frontier Policy to Foreign Policy
The Noodle Maker of Kalimpong

Which one of the following is not a tool of cyber war and cyber crime in the emerging scenario

(3) Laptops (4) LASER

Which one of the following is a tangible element of National Power :

(2) National Will

(4) Social Cohesiveness

Match List - I (Authors) with List - IT (Works) by using the correct code given below :

8.
given below :
List - I
(Authors)
(a) Gyalo Thondop and
A'F. Thurston
(b) M.W. Mosco
() J.S. Mehta
(d) Khurshid Kasuri
Code :
@@ (b) () (d)
O O 6@ @ W
@ (v G O @
@) G @) @ o
@) @ O G (@)
9.
of 215t century :
(1) Smart Phones (2)
10.
(1)  Critical Mass
(3) Strategic Purpose
11.
List - I
(Authors)
(a) G.Hyden eds
(b) A. Mazrui
() G.P. Mardock
(d) J.L. Newman
Code :
@ () © @
1) @ @@ 6 @)
@ @ G @)
@) O G @ @w)
@) (v 6 @ )
asor [ HHVAANN

List - II

(Works)

Africa : Its People and Their Culture History
Governance and Politics in Africa

The Africans : A Triple Heritage

The Peopling of Africa: A Geographic Interpretation

6 Paper-II11
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8. o fau 7T e o1 WA R G - 1 H T 7 ekl H G - 11 H S 1 IR GEIehl 9§ gaferd

RIS
T - 1 T - 11
(v ) (T )
(a) TN dFEM U WU, g¥ed (i) T fow fage: Reciorw 31 fewimsdt te Soerde
(b) TH. T, HIEH (i) TEER Bl R T Era
(c) SI.TE. TR (ili) TATH ThfeaR TIfeTEll ¢ Wik diferet
(d) eife wgd (iv) T& Iea He o smifemdin
e
@ (b) (9 (d)
® @ @) @) (@)
)  (v) (@) @) ()
®) (@) @Gv) @) @
4) (@) @) (Gv) (i)

9. 21 off Bl & I Uy H frfafad § | -1 9ger gg 3R AIgar STI Hl SUH T ¢ :

1) R %A (2) o U (3) Y™ (4) TR
10. frefafed § @ wiF-91 Usg wifed 1 O a1 § 2

(1) shifder SH T8 (2) U HHey

(3) TSR WA (4) OIS FHITAT

11, = fou T w& Fe %1 9 R gE - 1 (o@ent ) 1 gEt - 11 (Hiaat ) ¥ gafad wif
et - 1 gt - 11
(T EF ) (pfeat)

(a) N BEISH USH (i) ST, 329 WIS UE 3R Heer feedt
(b) T HES (i) Y U urfcrfesd 59 ST
(c) LGl ARElH (i) TS sTRieR : T fefuer e
(d) ST =H (iv) T digfein eifw stwtent : T e g=besH
" @@ () (o9 (d)
1 @ @ @ )
2 @) @) @) @)
(3) 0 @) (i) (IV)
(iv) @) @) (i)
sl T 7 Paperc
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12. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : India - Israel friendship made India the closest ally of Israel in Asia.

Reason (R) : Israel has become India’s strong defence partner and India’s multi -
dimensional rise is much supported by their cooperation in strategic, defence
and intelligence areas.

Code :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3) (A)is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

13. The term “Bar Lev Line” refers to which of the following :
(1) Dividing wall between East and West Berlin.
(2) Imaginary Line in Sahara desert.
(3) Israeli fortification on East Bank of the Suez canal.

(4) Defensive fortification built by France.

14. Kurds are a significant minorities in which of the following group of countries of West
Asia :

(1) Jordon, Lebanon and Turkey
(2) Iran, Kuwait and UAE
(38) Iran, Iraq and Turkey

(4) Jordon, Iraq and Turkey

15. Who among the following was elected as head of Hamas Political bureau in May 2001 ?

(1) Mussa Abu al Marzuk (2) Ismail Haniyo
Mohamed Nazzal (4) Khaled Meshal
N7 \IH\II“II\H T ;



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

12.

13.

14.

15.

247

AR (A) STk (R) F T T F2 1 TaH 9T :
APURAT (A) :  9RA - ToRFA i A&t = TR H 9Ra 1 wfsay ggant s+ feam

@ (R) : TR, WA 1 HSlegd L& eAN o T, WA i &g SAAH Y ol 0,
T 3R STgE o &l W S aga wmeH fiat Wi R

ETE
1) (A) 3R (R) < =&t § |

2) (A) 3R (R) S T T )
(3) (A) T & WY (R) e Tl T
4) (A) T T WY (R) T T

2

4

‘Ieta T’ Ueay fEfaiead § | forden! Heiid T © ¢
(1) Et SR ufkEs i & ofte fawrss SaR

(2) RN IFRAH # et @i

(3) WO e F Y fRIR R ISRES gRI fohersiat

(4)

4

2

g g1 TN ki TS L&TcHeh fehetsic)

ufeam wftren & frefafed fi <o wEl § $3 0 meayl SeuEes ¢
(1) e, S iR gent
(2) W, P ARG TE
(3) ¥, T IR I
(4)

€, e AR TRt

7 2001 § Frfafead # 9 ford gam o TsHifdew =0 1 Teaet g1 T4

(1) 1 ST A HHSh ) zEEd ehE
(3) HIEHE ST 4) @R TE

oo [ MFHNE A :
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16. Match the authors mentioned in List - I correctly with their books mentioned in
List - II by using the code given below :

List - I List - II
(Authors) (Books)
(a) Gamal Abdel Nasser (i) Green Book
(b) Kamal Ataturk (i) Philosophy of Revolution
(¢) Muammar Gadafi (i) Hutuk
(d) Anwar Sadat (iv) Revolt on the Nile

@@ (b) () (d)
1) @ @) @O @)
(2)  (@@) @) (@) @
G) Gv) @) @O @)
@ O Gv) (@) ()

17. Arrange the following events in ascending chronological order using the code given below :
(a) Formation of the Arab League
(b) Opening of the Suez Canal
(c) Balfour Declaration

(d) Baghdad Pact

Code :
1) (), (b), (a),(d) 2 (b), (o), (@), (d)
B) (), (d), (b),(c) 4)  (d), (), (9),(b)

18.  Which one of the following countries was ruled by the Maronite Christians :

Israel (

(1) Iraq (3) Lebanon (4) Egypt
asar [

2)
A 10
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16. = QU T e o1 9AW R gt - 1H T 7 orEehi o6 Gt - 11 1 < S STt JEdehl 9 gaferd

FITC
Tt - 1 T - 11
(T ) (q&Teh )
(a) I ST AE @) WIH
(b) HEA SR (i) TremE® 3w ReEeH
() TR TR (i) EZF
(d) TR AR (iv) TEee o fg e
e :
@@ (b) (9 (d)
1 @) @@ G @)
) @) @@ @) @
®) @v) () @ (i)
4) @ (@v) (@) (i)

17. = 3T e o1 9Am = fefafad seiet sl RIS Fieishn & SFTHR sHafeed HifaT

(a) TS T A TS

18. Tr=fafed § 9 form <91 W TR S0l A v fopan -
T (2) T& (3) I 4) fr=

1) )
oo [ MFHNE A y


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

19.

20.

21.

22.

23.

24.

247

“Ethical Policy” was introduced by which one of the following colonial powers in its colony :

(1) French in Indo-China (2) Dutch in Indonesia

(3) English in Malaysia (4) Spanish in the Philippines

Islamic militants of the Philippines are called :

(1) Huk (2) Roxas (3) Maro (4) Maute

Malacca came under the subjugation of which one of the European powers in 1641 :

(1) Dutch (2) English (3) Portuguese (4) Spanish

In Thailand “People’s Alliance for Democracy” (PAD) is also called as :
(1) Red Shirts (2) Yellow Shirts

(3) Black Shirts (4) White Shirts

Name the two Southeast Asian Countries which have claimed the ownership of Preah Vihar
temple :

(1) Myanmar and Thailand (2) Cambodia and Laos

(3) Cambodia and Thailand (4) Laos and Vietnam

Sukarno was deported by the Dutch before Indonesia achieved independence to which one
of the islands :

(1) Java (2) Bali (3) Bangka (4) Molucca

st (1T 2
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frfafea & 4 forg sufraeh wifed 3 smom sufaer & ¢ Afaes fifa’” =it yeemd &1 2
(1) e 3 sSrem o (2) =i A SR H
(3)  SAUSH A HAfern # (4) Sl 3 frefdg |

SEATHT 3T ehartedl sl Thelld=a H &gl Sl © :

a4 1641 | frfafed § 9 form F0da wfed & s1efa wereent o1 T

1) =4 (2) S (3) g (4) Hf=

orEeie § ¢ MiYed Tard R SHshH (HuEh) o fefafed ot et s e
(1) o HHS (2) el HHS
(3) It FHHS (4) vAd HHS

<feqor ol T o 39 1 <w o W SR s i fosr @i & @i 1 e o E
(1) MR IR el (2) wwtean SR Rl
(3) wwEITEA AR AEAS (4) e AR foma™

TSN gR STNIGT Tl i § Q& 4 4 gehvll ol fohd 519 W faffaa =i foan .

(1) S (2) et (3) il (4) WA

oo [ MFHNE A ’
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25. Match List - I (Country) with their books in List - IT (despot ruler) and find correct answer
with the right code :

List - I List - II
(Country) (despot ruler)
Myanmar @i  Gen. Suharto
Cambodia (i) Ne Win
Indonesia (iii)y Ferdinand Marcos
The Philippines (iv) Pol Pot

@ (b) (¢ (d)

(i) @@ @O @)

(i () @ ()

® @@ (v) (i)

(v) @) () (i)

26. Inmid 2016, some professors and students of the University of Ghana demanded the removal
of the newly installed statue of Mahatma Gandhi from the Campus of the University, because
according to them, Mahatma Gandhi was :

(1)
(2)
®)
4)

Anarchist and dictatorial
Racist and believer in traditional caste system
Fascist and Capitalist

Intolerant and anti-religion

27. Identify the group of African countries contributing over two - thirds of total oil production
in Africa in recent years :

1
2

(1)
(2)
®)
4)

4

nasor ||

Kenya, Cameroon, Ivory Coast, Chad
Angola, Algeria, Nigeria, Sudan
Ethiopia, Tanzania, Uganda, Guinea, Bissau

Democratic Republic of Congo, Mauritania, Mozambique, Gabon

14 Paper-II11
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Tl - 1(290) I Gt - 11 ( ATFT9TTE 9ITHeh ) § Hferd sifse 3R T2 e ol TA T 98l ST 1
HI :
et - 1 Tt - 11
(g9r) ( ATATYIE FITH )
(a) TR () e e
(b) HEEIfeAm ) A f
() SSHfvmE (i) HEMIS TRE
(d) Trelrdrd (iv) T dre
<
@@ (b) (o) (d)
1) @) @@ @ )
(2) (@) (Gv) (@) (i)
G) @ (@) (v) (i)
4) (v) (@) @) (i)
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28. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Due to the Dutch and the English, the French trading activity in Asia proved,
at least in the short run, a big failure.

Reason (R) : If was court - sponsored and its success fluctuated with the individual
monarch and intrigues.

Code

(1) (A)is correct, but (R) is not correct.

(2) (A)is not correct, but (R) is correct.

(3) (A)is correct and (R) is the correct explanation of (A).
(4)  (A) is correct, but (R) is also correct.

29. Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : The US has deployed its maritime reconnaissance aircraft in Seychelles to
fight the menace of maritime piracy.

Reason (R) : The new naval base here provides opportunity for the US to keep better
watch on naval movements of other navies passing through the area.

Code :
(1) Both (A) and (R) are correct

(2) Both (A) and (R) are not correct

(3) (A)is correct, but (R) is not correct
4)

4) (A) is not correct, but (R) is correct

30. Arrange the following events in ascending chronological order within help of the given code :

a) Establishment of African National Congress in South Africa

(
(b) Mau Mau Rebellion
(c) Rwanda Genocide
(

d) Establishment of OAU

Code
1) (@), (b), (d), (c) 2 () (9) (a), (d)
©®) (), (@), (b), (d) 4)  (d), (), (9, (a)
st | T 1
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(2) (A) T T T /Y (R) T T
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(4)
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29. = f3u MU STER S1fuehed (A) iR @&k (R) & fTT T@1 e i 9= SV :
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1) (A) 3R (R) < =&t § | 2) (A) 3R (R) S T & )

3) (A) W& §, W (R) 9 Tl < | 4) (A) 92 7 g, W (R) TR T |
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(c) TdIel THIR |
(

d) STHIchl Tehdl HIST hl TTA |

<
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®)  (©) () ®) (d) @) (@), (b), (c) (a)
st | 1
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Arrange the following events in chronologically descending order with the help of the code
given below :

(a) Ethiopia Occupied by Italy.
(b) South Africa became non - racial state.
(c) Nigeria united to form largest British African colony.

(d) South Africa became independent dominion.

Code :
1 (d), (@), (a), (b) ) (0), (a), (b), (d)
@) (b), (d), (¢), (a) 4)  (a), (b), (d), (9)

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Theories of international relations are not universal in nature.

Reason (R) : African states are starkly different from one another and also from other
non-African states in terms of sovereignty, power relations and state
formation.

Code :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3)  (A) is correct but (R) is not correct.
(4) (A) is not correct but (R) is correct.

Match List - I (Leaders) with List - IT with the (countries) with the help of the given :

List - I List - II
(Leaders) (Countries)
(a) Ahmed Sekou Toure (i) Uganda
(b) Haile Selassia (i) Congo
(c) Patrice Lumumba (i) Ethiopia
(d) Miltan Obote (iv) Guinea
Code :
@ (b) () (d)
O G @ ) 6
@ (v G @ @
@) 6 @) @ @
@) @ G @

) iv)
st (1T s
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e
(1) (d), (0), (a), (b) 2) (o) (@), (b), (d)
3)  (b), (d), (0), (a) 4) (a), (b), (d), (o)
32. o fau U STHER 3ifueRem (A) iR 9ok (R) & T &t Fhe it Tea HifeT :
AR (A):  STRIST Gaedl o THgidl bt Ypia dreifen &l et T
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TR-eTRish! <ol @ foergat o1em
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33. QU TN %o =t TEEd € G - [ (7ar) 1 g - 11 (997) § gofaa &g
et - 1 gt - 11
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(a) OTEHS HhT AR @ Fme
(b) B HerEan (i) SR
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<
(@ (b) (o (d)
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(3) (i) (iV) (iii) ( )
@ G
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34. Match the List - I (new names) of the countries with List - II (old names) of the following
countries with the help of the given code below :

List - 1
(New names)

(a) Benin

(b) Malawi
(c) Zambia
(d) Mali
Code :
@ () ()

® @ @) @
(2)  (@@) @) @

G ) @ @
@4 @) () (@)

List - II

(Old names)
Nyasaland
Northern Rhodesia
French Saudan

Dahomey

35. Which one of the following is considered as the first “war for liberation” in Africa ?

(1) ZAPU sent force in Rhodesia.

(2) FRELIMO's armed struggle in Mozambique.

(3) Mau Mau rebellion in Kenya.

(4) MPLA Liberation movement in Angola.

36. What does the term ‘Afropolitans” mean out of the following :

(1) Cities of Africa.

(2)  African politicians belonging to different parties.

(3)  Multilingual Africans residing in western metropolis with a sense of their soil.

(4) Multi-ethnic groups

st (1T
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2
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37. The Victoria Falls is ‘located in which one of the following countries :
(1) Mozambique (2) Zimbabwe (3) South Africa (4) Uganda
38. Match the following authors given in List - I with their books given in List - II by using the
code mentioned below :
List - I List - II
(Authors) (Books)
(a) Mikhail Sholokhov (i) Imperialism as the highest stage capitalism
(b) Nikolai Ostrovsky (i) The Fate of a Man
(c) Boris Yeltsin (iii) How the steel was tempered
(d) Vladimir Lenin (iv) Against the Grain
Code :
@ ) © @
O O @ @ W)
@ @ @ @) 0
@) @ @) @
@) @) @ 0 @)
39. Yulia Timoshenko, the balancer between Russia and the EU, was the Prime Minister of which
one of the following countries :
(1) Georgia (2)  Ukraine (3) Belarus (4) Moldova
40. How many countries did emerge on the debris of the Republic of Yugoslavia ?
(1) Two (2) Three (3) Six (4) Five
41. Arrange in ascending chronological order the following occurrences by using the code given
below :
(a)  First test of nuclear device by the Soviet Union.
(b)  First test of nuclear device by China.
(c)  First test of nuclear device by India.
(d) First test of nuclear device by Pakistan.
Code :
1) () (9, (b), () 2 (@) ®) () (d)
3) (), (©), @) (d) @) (©) @) (d), (b)
s IR S
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T - 1 T - 11
(T E® ) (& )
(a) fTirema diedE (i) SR U fS BRTR WS Hitefasd
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42. Which one of the following reasons was the cause of Soviet failure in Afghanistan :

(1) The Soviets did not take into consideration that no external power in recent memory
has ever won in Afghanistan.

(2) Used less fire power.
(8) Opposition to Soviet invasion was too strong within Afghanistan.

(4) Absence of local support coupled with rise of Islamism fuelled by Pakistan/Taliban
combine.

43. Which one of the following reasons is attributed to Russian claim of the Arctic Sea Zone
being contentious :

(1) Other countries too have borders along the Arctic sea.

(2) Arthur Chillingarov’s mission to the Arctic that proved Russian continental shelf
extended to the Artic pole.

(3) Rival claims adduced by the USA.

(4) Rival claims by all other countries.

44. Match the following seas given in List - I with one of their littoral countries given in List - II
by using the code given below :

List - I List - II
(Seas) (Littoral Countries)
(a) Caspian Sea (i) Russia
(b)  Aral Sea (i) Latvia
(c) Baltic Sea (i) Turkey
(d) Black Sea (iv) Uzbekistan
Code
@@ () (o (d
O @ @) @D ()
2 @ (@v) @) (i)
@) @v) @) @ ()
(4) (@) (@Gv) @) @)

i)
st (1T 2
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45. Arrange in chronological ascending order the occurrence of the following events with help
of the code given below :

(a
(b

) Bombing of the Twin Towers.
) The US invasion of Afghanistan.
() The US invasion of Iraq.

(d) Soviet invasion of Afghanistan.

Code :
1) (d), (@), (b), (9) () (@), (b), (9 (d)
@) (b), (), (a), (d) ) (d), (9), (b), (a)

46. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The US-Russian Relations have suffered setbacks under Donald Trump due
to strained bilateral ties.

Reason (R) : The US suspicion of Russian meddling in Trump’s Presidential elections
have further beclouded ties.

Code :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3)  (A) is correct but (R) is not correct.

(4)

(R) is correct but (A) is not correct.

47. Which one of the following archaeological sites in Bangladesh was declared as SAARC
cultural centre :

(1) Ramgarh (2) Mahasthangarh (3) Bogura (4) Devgarh

48. To which one of the following countries Ashoka sent his daughter Sangamitra to propagate
Buddhism :

(1) China (2) Japan (3)  Sri Lanka (4) Nepal

49. Who among the following leaders was the architect of the Panchayat system in Nepal :

(1) King Birendra (2) King Mahendra
(3) K.P. Bhattarai (4) G.P. Koirala
s IR 2 -
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The Shimla Agreement, concluded between India and Pakistan, mainly resolved one of the
following issues. Find the correct answer :

(1) Indus water dispute (2) Kashmir problem

(3) Border issue (4) Prisoners of war of 1971

Identity the religion practised by the people of Bhutan :
(1) Hinayana Bhuddhism (2) Hinduism

(3) Mahayana Buddhism (4) Islam

In which one of the Shanghai Cooperation Organisation (SCO) Summits given below India
was admitted as a full member ?

(1) Yekaterinburg - 2009 (2) Uta - 2015

(3) Tashkent - 2016 (4) Astana - 2017

Which South Asian country uses the term ‘Cindrella Community” for its population :

(1) Bangladesh (2) India (3)  Sri Lanka (4) Nepal

Which one of the following countries does not share its border with Afghanistan :

(1) Tajikistan (2) Kazakhstan (3) Uzbekistan (4) Turkmenistan

Who issued the US Emancipation Proclamation constitutionally :

(1) T. Jefferson (2) J. Adams (3) A. Lincoln (4) B. Franklin

When did the first census took place in the US :

1) 1789 2) 1790 (3) 1791 (4) 1794

st (1T 2
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Who made the statement that “there are known knowns ; there are known unknowns. But
there are also unknown unknowns” as reflections of the world scenario ?

(1) Capt. Jetf Davis (2) John Mc Cain (3) Jens Stoltenberg (4) Donald Rumsfeld

Arrange the following acts in their ascending chronological order by using the correct code
given below :

(a) Citizenship Act of India (b) Pakistan Citizenship Act
(c) Ceylon Citizenship Act (d) Maldivian Citizenship Act
Code :

1) (o) (b), (a), (d) 2 (®) (o) (a) (d)

G)  (d), (@), (b), (0) (4) (d), (b), (0) (a)

Who among the following introduced the concept of corporate liberalism in the US
economy :

(1) Henry Ford (2) John Adams (3) Ronald Reagan (4) G.W. Bush

In which year the Taliban regime was overthrown in Afghanistan ?

(1) 2000 2) 2001 (3) 2003 (4) 2004

Which one of the following issues had come up before the Church Committee hearings in the
US Senate in 1975 :

(1) Church - State relations (2) Bribery case

(3) Education policy (4) Health policy

Which one of the following plans was a US response to the rise of populist, socialist, state
governments in Latin America during 1980s :

(1) Baker Plan (2) Brady Plan (3) Oslo Plan (4) Pax Americana

st (1T .
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63. Which group of the following countries emerged out of the Federal Republic of Central
America :
(1) Costa Rica, El Salvador, Guatemala, Honduras.
(2) Ecuador, Costa Rica, Nicaragua, Colombia
(3) Costa Rica, El Salvador, Honduras, Ecuador
(4) El Salvador, Guatemala, Colombia, Nicaragua
64. Which one of the following Latin American Countries set up its “Truth Commission’
in 2017 :
(1) Costa Rica (2) Honduras (3) Chile (4) Venezuela
65. The architect of “Zero Hunger” programme hails from which one of the following countries
of Latin America :
(1) Brazil (2) Chile (3) Dominican Republic (4) Peru
66. Identify the country with its military regime that granted women’s suffrage in Latin
America :
(1) Argentina (2) Peru (3) Colombia (4) Honduras
67. Arrange the following meetings in the chronologically ascending order by using the correct
code given below :
(a) Central American Peace Conference
(b) Summit of the Americas
(c) Pan - American Conference
(d) Central American Integration System’s Conference
Code :
1) (©), @) (d), (b) ) (©, (b), (@) (d)
3 (@) @), (©), (b) @) (@) (©) (b) @
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68. Identify the Latin American country that has now an opposition controlled Parliament :

(1) Brazil (2) Colombia (3) Peru (4) Venezuela

69. Identify the financial approach introduced by US President Ronald Reagan at the Cancun
Summit as given below :

(1) Structural Adjustment (2) Market place magic

(3) Debt Swaps (4) Import substitution

70. Which one of the following was identified as the major consequence of the IMF assistance to
the Latin American debt crises in the 1980s :

(1) Price rise (2) Fall in share of wages

(3) Flight of finance capital (4) Decline in terms of trade

Read the passage given below and based on it answer the questions ranging from 71 to 75 :

The Cold War undermined this objective in numerous ways that have been well documented.
The intensity of the confrontation between the United States and the Soviet Union undermined a
system that was premised on the existence of Great Power consensus as to the nature of unacceptable
aggression and on Great Power cooperation in enforcing the peace. This premise was visible,
above all, in the veto given to the five permanent members. This was made necessary not solely
because of the Cold War itself but because of the concentration of military power (and especially
nuclear weapons) in the hands of superpowers. In such a situation, collective action could only be
threatened against either of them at the risk of provoking a devastating conflict. Thus, in contrast
to the neat assumptions of the collective security model, there were states that simply could not be
coerced even by the united will and power of the rest of the international community. The veto
highlighted, then, the clear and shared recognition that the collective security system could not
deal with threats to peace emanating from the superpowers or affecting their vital interests.
Contingencies in that domain would have to be dealt with by the traditional right of individual
and collective self-defence as reiterated in Article 51.

The system of Cold War alliances meant that idea of an isolated aggressor was also illusory.
The globalization of the Cold War, particularly after the outbreak of the Korean War, and the
density of the Cold War alliance systems meant that the majority of the most serious conflicts and
crises came to involve the interests of one or other of the superpowers or its allies. On the one
hand, this meant that there would a friendly superpower willing to use its veto to block UN action.
On the other, the intensity of the Cold War meant that loyalty to the Cold War alliance would tend
to predominate over.
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71. How did the Cold War undermine the objectives of confrontation between two superpowers ?

(1)

It broke the great power consensus to maintain peace.
It gave rise to the intensity of confrontation between USA and USSR.
It ushered in a period of severance of peace.

It transgressed on the premises of great power coexistence.

72. How was the Cold War system premised on ?

Mutual hostility and confrontation
The nature of unacceptable aggression and acceptable cooperation to ensure peace
Veto power to five permanent members

Military power concentration in each other’s zone of influence

73. How did concentration of nuclear power impact Cold War relations ?

It generated tension in bilateral relations.
The divide between nuclear and non-nuclear powers was widened.
Confrontation necessitated cooperation for ensuring peace.

Collective action could only be threatened against either of them at the risk of provoking
a devastating conflict.

74. What was the impact of Veto power ?

It could not coerce states to follow the will of the international community.
The assumption of the collective security model failed.
International Community was bewildered.

Quest for individual and collective self-defence began.
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75. How did the Cold War affect the alliance system ?

(1) It sets two rival blocks apart.
(2) Most serious conflicts involved one or other of the super powers or its allies.
(3)  Veto weilding powers blocked UN resolutions frequently in favour of their loyal nations.
(4) It increased the intensity of the Cold War.
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